Globalisation – Lesson 2
How has Globalisation changed the way we communicate?


	Subject Knowledge Notes

Telegram
· A telegraph operator tapped the message out in code using a machine called a Morse key. The message travelled to another operator who decoded the long and short taps into words, and then passed the message on. This was called a telegram. Telegrams cost 6d (about 2p) for every nine words, and a penny for each extra word after that, so messages were short and unimportant words were left out.
· Early 80s it became much more common to have a landline in the house, before this most people in the UK used phone boxes or eg phones in pubs. 

Internet usage
· Global Internet usage refers to the number of people who use the Internet worldwide, which can be displayed using tables, charts, maps and articles which contain more detailed information on a wide range of usage measures.
· As of June 2018, 55.1% of the world's population has internet access.[1] In 2015, the International Telecommunication Union estimated about 3.2 billion people, or almost half of the world's population, would be online by the end of the year. Of them, about 2 billion would be from developing countries, including 89 million from least developed countries.

https://newsroom.fb.com/news/2018/02/state-of-connectivity-2017


	Lesson Two: How has globalisation changed the way we communicate?

	[image: Thought bubble]
10 minutes
	Slide 2

	· [bookmark: _gjdgxs]Children independently complete the retrieval practice. Ask pupils to aim to remember these things independently, but to check back in their booklets if they are stuck. 
· Feedback quickly and everybody marks together.
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	· Display slide 3 and ask children to complete Task 1 by analysing the pictures provided in partners.    
· Have discussion about Telegram and role it played. Compare situation to now. 
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	· Pupils to complete Task 2 independently. Need to create a concept map (Concept maps begin with a main idea and then branch out to show how that main idea can be broken down into specific topics)
· Have discussion, including mentioning that in first world countries, in 1999 when Nokia introduced the 3210, only 35% of under 18s owned a mobile phone. Ask them how that compares to now. 
· Pupils then to write for Task 3.
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	· Pupils to independently answer Task 4 and then reflect together on the breadth of ways in which we communicate online and the impact of that on relationships, business, etc. 
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	· Display slide 6. Use PEA (Pattern, Example/Evidence and Anomaly) to analyse it. Pupils to used Task 5a sentence stems to complete this. 
· Task 5b to be completed by pupils by analysing the table and labelling the graph. 
· Elicit responses and seek as much specificity as possible. 
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	· Pupils will be thinking about this statement for Task 7: Globalisation has involved the expansion of the internet and this means an increased in numbers of people that are connected to the internet and rely on the internet. What are the advantages and disadvantages of internet usage? 
· Feedback and pupils to share their ideas. 
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	· Pupils record 3 key things they have learnt.
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